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A2 SENRER 2N FIASAZRE MG
g st=ERsSIIsZs
2 sMHERSIIEES (cho &)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
CHANEME2SSHARS 429,000 0 429,000
= 330,000
< 99,000
403 UHXISHHSA=0l& 429,000 0 429,000
= 330,000
< 99,000
01 HXESHMA=LE L 429,000 0 429,000
OZHAIEd2sSHARS 429,000
= 330,000
< 99,000
SAE0HAE XA 429,000 0 429,000
J| 330,000
< 99,000
308 XXM SO A 429,000 0 429,000
J| 330,000
< 99,000
01 IXNHHBANEES 429,000 0 429,000
Os&S0HAE X E AL 429,000
J| 330,000
< 99,000
SNBSS SEGEHAY 2,012,798 0 2,012,798
= 1,548,306
< 464,492
308 XX EHH SOl A 2,012,798 0 2,012,798
= 1,548,306
= 464,492
01 HXNHHNBHEELS 2,012,798 0 2,012,798
Osd=sSssoteiAY 2,012,798
= 1,548,306
< 464,492
sE0HEZAELNEA 1,200,000 1,200,000 0
308 XX EHSOIA 1,200,000 1,200,000 0
01 HXNHHNBMNEELS 1,200,000 1,200,000 0
OSEANE=ASLENEA 1,200,000
SUSNSSYLAMAILXTR 450,000 450,000 0
403 XSS =0l & 450,000 450,000 0
01 XM A=2EE 450,000 450,000 0
OstsaStAAUAEX 450,000
SMESSSAAE U X 0 8,000 8,000 0
308 XtXIEHH SOl A 8,000 8,000 0
01 AXHHILEES 8,000 8,000 0
OsiESsSAAEHX O 8,000
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4R zEaRsS3 SN FIASABRSHR
g st=ERsSIIsZs
Sl SABMNASH CERED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
308 XXM SO0 A 40,000 40,000 0
01 HIXNHHBHNEELES 40,000 40,000 0
OXNGSUsASSHAA 40,000
403 MtXISHHE X201 & 666,000 1,140,000 A 474,000
01 XM A=2EE 666,000 1,140,000 A 474,000
OsAZotsag=ss 450,000
OAE2sABIHSAEXNRA 216,000
HEANSIYALSXA 120,000 130,000 A 10,000
307 glz2tol & 20,000 60,000 240,000
02 It HAMHEE 20,000 60,000 A 40,000
OdsS=s4d8:= 20,000
403 MtXISH S X201 & 100,000 70,000 30,000
01 X SHHAN2E = 100,000 70,000 30,000
ONSAS IS LN 100,000
ZENSESASAULLY=ZEY 200,000 0 200,000
403 Ut S EX201H 200,000 0 200,000
01 X EHHMA=E L 100,000 0 100,000
ONsSLSAZZEIHMIA 100,000
02 3|23 0l CH SHCH 2 At & HI 100,000 0 100,000
IRSE=E=g=gag— 1N PSR- S ERPN R W/ | 100,000
CHSE Al 2Bl RtGreen-s A ZFH X & 105,000 105,000 0
308 XXIEHHSOIA 105,000 105,000 0
01 AXHHILEES 105,000 105,000 0
LGreen-sASEH XA 105,000
SASHEINZEMII=N LI IALE NN 100,000 21,000 79,000
403 A X EHHS 20l A 100,000 21,000 79,000
02 I 2SO0l CH&HCH &8 AF & HI 100,000 21,000 79,000
OsASHMENSEMIIN=NERBIALE XA 100,000
SASAHEZENF ALY 163,715 107,715 46,000
= 100,000
< 53,715
307 glz2tol & 153,715 107,715 46,000
= 100,000
< 53,715
05 RIZHRI & 3 163,715 107,715 46,000
OAME DS AHS 115,715
= 81,000
< 34,715
OAOHE AHIOHSHOIOI AL 38,000
= 19,000
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N = 0l & At & Ml A

SHENRS= M HEZESHL
=PI M-SR
MEdsgoletxy CEERED)
= - — L=
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
=g 249,880,347 238,996, 341 10,884,006
= 195,327,098
Xl 567,600
J| 20,109,200
< 33,876,449
SFsHIHHND 249,864,547 238,980, 541 10,884,006
= 195,327,098
Xl 567,600
J| 20,109,200
< 33,860,649
MEd=sglletxs 49,829,683 52,344,909 22,515,226
= 39,351,989
Xl 567,600
J| 1,579,200
< 8,330,894
dedsgirxs 322,200 810,000 A 487,800
Xl 214,800
< 107,400
403 XIS E X201 & 322,200 810,000 A 487,800
X 214,800
< 107,400
01 X HHMA=E L 322,200 810,000 A 487,800
O3 s E2E(ANESY) 322,200
Xl 214,800
< 107,400
ELdHEHS2 11,027,066 9,597,668 1,429,398
= 10,573,899
= 453,167
403 X SHHSA=0l& 11,027,066 9,597,668 1,429,398
= 10,573,899
< 453,167
01 HXSHMA2E X 11,027,066 9,597,668 1,429,398
OE2MNMEME2 11,027,066
= 10,573,899
< 453,167
=HHSSUHUHXR 349,817 627,565 N2T7,748
= 269,090
< 80,727
403 MtXISHHE X201 & 349,817 627,565 N2T7,748
= 269,090
< 80,727
01 AXSHMA=2EE 349,817 627,565 AN277,748
O=sHIASSHUXA 349,817
= 269,090
< 80,727
oI sHHAXH 494,220 4,284,000 A 3,789,780
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AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
SRR E EEEBE S (B9 ®R)
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
sS4 369,690 327,000 42,690
308 AHAIEHHSOIA 216,090 120,000 96,090
01 HXNHHBHELS 216,090 120,000 96,090
O gdsdsdsSF=AH X 216,090
403 XSS A0l & 153,600 207,000 A 53,400
01 AXISHHA=2E = 153,600 207,000 A 53,400
OB ERIIsgAYysIH=EL 81,600
DS B RAHOIAISE A5t 72,000
sl =22 47,280 44,976 2,304
308 A EHHSOIA 47,280 44,976 2,304
01 HIXNHHNBMNELS 47,280 44,976 2,304
OzsZ=HEENES XA 17,280
O std=dof el & XA 30,000
Bzl =X& 567,000 1,410,000 843,000
403 A X EH S =0l A 567,000 1,410,000 A 843,000
01 X HHMA=LE L 567,000 1,410,000 843,000
O HS ISR FAS 357,000
Oxed=sgEEXNR 210,000
A AEXTHAA 175,000 175,000 0
403 MtXISHHE X201 E 175,000 175,000 0
01 X SHHXAN2E= 175,000 175,000 0
Ost20=2s22=XE 18,000
OxseEddIdsHMNsS 157,000
S HEHMAALSEUHSAA 427,960 427,700 260
J| 329,200
= 98,760
403 UtXISHH S =0l & 427,960 427,700 260
J| 329,200
< 98,760
01 XM A2E X 427,960 427,700 260
OEBEHMAALS S KR 427,960
J| 329,200
< 98,760
S =LA 448,050 448,000 50
= 309,000
< 139,050
403 XIS E X201 & 448,050 448,000 50
= 309,000
< 139,050
01 X SHHN2E= 448,050 448,000 50
OS2I =S XX &AL 448,050
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A= SFMRER 2A Etd=sgl
Ha: AEYSAYWARD
Sol: DEMATMALSIIBES CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o gﬁ‘&i HR=2
= 3,500,000
== 1,050,000
01 MXHAMAEBE = 4,550,000 3,900,000 650,000
OsJIHL U A 4,550,000
= 3,500,000
= 1,050,000
NEEAMSGHEAAHYALE XS 24,800 24,800 0
= 20,000
=} 4,800
308 MXISHMSOIA 24,800 24,800 0
= 20,000
=} 4,800
01 IXHHIMNEEXTZ 24,800 24,800 0
ONSENEZEEIANALEE XA 24,800
= 20,000
& 4,800
IIZ2SHA LTSRS 54,000 53,622 378
308 NXIEHMSOIA 54,000 53,622 378
01 AIXSHMEAMNEX= 54,000 53,622 378
O=ssSHALMBSHX =S 54,000
NEEMLLIDSHEY 168,000 168,000 0
403 XX SHHS K20 & 168,000 168,000 0
01 XIS A=Z2E X 168,000 168,000 0
ONSENLSHSH 168,000
HEISsHEXJ 2,335,000 2,415,678 A 80,678
403 XX SHHS K 20| & 2,335,000 2,415,678 A 80,678
01 MXHAHXE2E =X 2,335,000 2,415,678 A 80,678
[IHEIZEAA 2,335,000
OHER2F4X 2,025,000
OHSEASXMA A 310,000
SAEsIIHZ=2 1,600,000 1,500,000 100,000
403 XX S M S K201 A 1,600,000 1,500,000 100,000
01 MXSHAHXNEE X 1,600,000 1,500,000 100,000
OzA8sIAHZES 1,600,000
A S otM &YX & 420,000 420,000 0
403 XX SHHS K20 & 420,000 420,000 0
01 XS AS2E X 420,000 420,000 0
OH s ot™ &H X & 420,000
NEHASFMAALEI|BIILFER 14,400 14,400 0
201 LBt Y| 5,000 5,000 0




AR sENRER SN HEBFSAD
Ha: AEYSAYWARD
Sol: DBABMAASIIBEY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 At 22l 5,000 5,000 0
Oget==&H| 5,000
OsZMoitiM2ATGS LA A RO 5,000
202 O4dl 8,000 8,000 0
01 = LH 4 Hi 8,000 8,000 0
OsYMoth S =804 8,000
301 et A= 1,400 1,400 0
09 &AL HIZ &S 1,400 1,400 0
OsEZEsIIE NS A 1,400
SIHAHAE2HE XX 100,000 100,000 0
403 XSS X201 & 100,000 100,000 0
01 AXSHHMA2E = 100,000 100,000 0
OsJIASE2HE XX 100,000
AMENSEMIXE 242,000 231,000 11,000
403 XA SA=0l& 242,000 231,000 11,000
01 X ESHHMA=2LE L 242,000 231,000 11,000
OASENEEMIXA 242,000
SN AL B HE K& 250,000 0 250,000
308 XX EHSOIA 250,000 0 250,000
01 HIXNHHBNEES 250,000 0 250,000
OsgilAsgz oz 250,000
HHYssEXE 40,000 100,000 260,000
307 glz2t0ol & 40,000 100,000 A 60,000
04 QIZFHALAIH E = 40,000 100,000 260,000
OXNMA=sCAZE S S U2 XA 40,000
EH TH bH 48 =4 5} XI & AL 300,000 100,000 200,000
403 A X EHHS =0l A 300,000 100,000 200,000
01 X HHMA=LE L 300,000 100,000 200,000
CIEHAH B 24 &4 oF X & A 300,000
M2 KH A D BEE A 1,300,000 1,300,000 0
J| 1,000,000
< 300,000
403 X SHHSA=0l& 1,300,000 1,300,000 0
J| 1,000,000
< 300,000
01 X SHMA=E X 1,300,000 1,300,000 0
OMZ A Aot o 1,300,000
J| 1,000,000
< 300,000




A SA - SAEA) - MRAY - BES 0l &t o il HImEET

Al S APAI I E JEAL & 15,000 15,000 0

303 Z& = 15,000 15,000 0

01 243 15,000 15,000 0
CTAISEA AFAI ZHE DFAl & 15,000

HsAl=Z ML 2D H 3= XA 400,000 0 400,000

403 XSS A=0l& 400,000 0 400,000

01 XM A2E X 400,000 0 400,000
OsAS=ZI ML 2IAHFHLX 400,000

SHASUHEER 145,360,710 135,011,204 10,349,506
= 143,868,649
J| 715,000
< 777,061

A dsHAEX =M 2,419,000 1,947,000 472,000
= 2,419,000

308 A EHHSOIA 2,419,000 1,947,000 472,000
= 2,419,000

01 HIXNHHBHELS 2,419,000 1,947,000 472,000
Oxg3=sgHE X2 2,419,000
= 2,419,000

MASSEEAZIEM 121,285,840 110,000, 000 11,285,840
= 121,285,840

308 XXM SO A 121,285,840 110,000, 000 11,285,840
= 121,285,840

01 HIXNHHBNEES 121,285,840 110,000, 000 11,285,840
ONAESEEIEXEAN 121,285,840
= 121,285,840

HASSSHAZIENM AL 22l 715,000 800,000 285,000
J| 715,000

202 (4l 10,000 10,000 0
J| 10,000

01 SLHOIYI 10,000 10,000 0
(OASSEMNIXNSHMERF=E N 10,000
J| 10,000

308 A EHHSOIA 705,000 790,000 85,000
J| 705,000

01 HIXNHHNBMNELS 705,000 790,000 A 85,000
HASSSBHEAZIEM AL 22l 705,000
J| 705,000

TAEUNIEHZIE AN 8,600,000 8,686,000 A 86,000
= 8,000,000
< 600,000




A2 SEURER SN AEEsAD
HE: ABPsAIMARKD
CHel: SIASUHEER (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
308 X EHSOIA 8,600,000 8,686,000 A 86,000
= 8,000,000
< 600,000
01 HIXNHHBHNEELES 8,600,000 8,686,000 A 86,000
OxA=2cl NI XM 8,600,000
= 8,000,000
< 600,000
Z2ABHEAZIE N 184,870 158,204 26,666
= 163,809
< 21,061
308 XXM SO A 184,870 158,204 26,666
= 163,809
< 21,061
01 AXHHBILEES 184,870 158,204 26,666
OZ22dXNEX 2 H 184,870
= 163,809
< 21,061
ER=R RS DAR=N 12,000,000 10,000, 000 2,000,000
= 12,000,000
201 Let24d] 3,000 3,000 0
= 3,000
01 At 22/l 3,000 3,000 0
E=3=i:] 3,000
OZsgdAZIN=MIE =S A 3,000
= 3,000
308 XX EHH SOl A 11,997,000 9,997,000 2,000,000
= 11,997,000
01 AXHHILEES 11,997,000 9,997,000 2,000,000
DegsgdaEX2H 11,997,000
= 11,997,000
HIHBH s OtALS 2 S THEH X & 156,000 120,000 36,000
308 AHAIEHHSOIA 156,000 120,000 36,000
01 HIXNHHNBHELS 156,000 120,000 36,000
COHMBl s OtAIS 2 S TH B X & 156,000
s HASSUXNI MG 1,318,000 1,165,500 152,500
ZEAMLEEH A 130,000 130,000 0
307 glz2tol & 130,000 130,000 0
04 DIZHHALALSE E X 130,000 130,000 0
OZSMLAES A 130,000
IrsItASESUHNIAMSF 13,000 13,000 0
201 L2l 4,000 4,000 0
01 At 22l 4,000 4,000 0




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
CHel: s HASSUHNR ALY (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
Ogpt=2tl 2,000
Olt+==tASESHENESRAUS 2,000
O=gHl 2,000
O=shtAsSsSUHFANs4AH 2,000
202 04l 7,000 7,000 0
01 = LH YI 7,000 7,000 0
O+sHASESUHERSFAN 7,000
301 et &2 2,000 2,000 0
09 HALAHIE& S 2,000 2,000 0
OFTAL St FZHAN DA ZX S 2,000
BAERRNKE 1,070,000 970,000 100,000
403 MHXISHHE X201 E 1,070,000 970,000 100,000
01 RXIEHH b= 2 & 1,070,000 970,000 100,000
OU=sdsIitgd=2 B804 700,000
OunaSAS XM 370,000
sl AFIEANSH 105,000 52,500 52,500
403 UtXISHHS =0l & 105,000 52,500 52,500
01 HAXSHMA=2EE 105,000 52,500 52,500
O sdMZIAMSH 105,000
FTACHS IH 4 A+ 21 2 3 21 J| DAL 19,553,900 20,406,975 853,075
Il 13,447,000
< 6,106,900
B DSEMMAILSUSALS 14,814,650 16,360, 050 A 1,545,400
J| 10,217,000
= 4,597,650
403 MtXISHHE X201 & 14,814,650 16,360, 050 A 1,545,400
J| 10,217,000
< 4,597,650
01 XM A=2EE 14,814,650 16,360, 050 A 1,545,400
OX==NSEAESUHSAS 14,814,650
J| 10,217,000
< 4,597,650
DAMBHAMCXIBEELALS 3,343,250 2,589,675 753,575
J| 3,110,000
= 233,250
403 A X EHHSH20IA 3,343,250 2,589,675 753,575
J| 3,110,000
< 233,250
01 X ESHHMA=LE L 3,343,250 2,589,675 753,575
OS2 AT IEFE A ALY 3,343,250
J| 3,110,000
< 233,250




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
SR FTAUS UM AT DALS (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
HasBdHEEHAA 156,000 156,000 0
J| 120,000
& 36,000
403 XX SHHS K201 & 156,000 156,000 0
Jl 120,000
= 36,000
01 XIS AS2E X 156,000 156,000 0
OuasgesSEaXd 156,000
J| 120,000
=} 36,000
WMArF A D 1,210,000 830,000 380,000
403 XX SHHS K20 & 1,210,000 830,000 380,000
01 XIS A=Z2E X 1,210,000 830,000 380,000
=SS &YX & 550,000
COFTALHES M 2t=HE S 600,000
OXEA AL S K& 60,000
ASAMNYREIEPE 30,000 0 30,000
403 XX SHHS K 20| & 30,000 0 30,000
01 XIS A=2E X 30,000 0 30,000
O2SAURSIERHF 30,000
S SIHASSUHRN AN 342,000 342,000 0
SIS MALAI S A M H DX 312,000 312,000 0
403 XX SRS K20| & 312,000 312,000 0
01 AXESHHI2E X 312,000 312,000 0
38| MAAE B[ DX 312,000
WRZE2=Z2ESEIIXA 30,000 30,000 0
307 2Iz2t0| A 30,000 30,000 0
04 SIZ2ISHAAISHE E X 30,000 30,000 0
O =Z28 &3 &I 30,000
20 &S A BEEY 15,819,756 14,613,661 1,206,095
= 5,033,460
J| 3,128,000
== 7,658,296
INE=RERCG NS NN E=X=%-2=I DK 6,978,756 5,486,611 1,492,145
= 5,033,460
== 1,945,296
403 XX SHHS K20 & 6,978,756 5,486,611 1,492,145
= 5,033,460
= 1,945,296
01 XIS A2 X 6,978,756 5,486,611 1,492,145
OANE20odRoE2essstid 6,978,756




AT SENRS=2 SN HEBZSAD
Ha: AEYSAYWARD
CHRl: 20| XS A4 B Y CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OANEZZUUNUHXNZEZANELES XA 5,917,450
= 4,081,000
< 1,836,450
OANEZNSHEA LI ES XS 88,400
= 68,000
< 20,400
OANEZNXNSYULHHBANELEES XA 972,906
= 884,460
< 88,446
LASHESLIE 4,325,000 2,825,000 1,500,000
403 MtXISHH S0l & 4,325,000 2,825,000 1,500,000
01 X SHHA2E = 4,325,000 2,825,000 1,500,000
Oasidzssdld 4,000,000
ORIEA - dHFHAI|IBHSIRA 325,000
2O S HAD B HAIH =X 11,000 11,000 0
201 ¢er24| 4,000 4,000 0
01 At 2t 2l 4,000 4,000 0
Oget==2H| 2,000
O2N2Bo2ENERAUS 2,000
O=gl 2,000
OZ &A= HAD|I B = Al I 2,000
202 04 dl 7,000 7,000 0
01 = LH 4 HI 7,000 7,000 0
O=sYAdsMHiMSFA 7,000
DFHIJIHE MBHAIE X & 1,740,000 1,740,000 0
J| 1,200,000
= 540,000
403 XSS A=0l& 1,740,000 1,740,000 0
J| 1,200,000
S 540,000
01 HXSHMA2E X 1,740,000 1,740,000 0
ODFHI S MHEBAIE X & 1,740,000
J| 1,200,000
= 540,000
ANEAUHSEHNLXA 2,499,800 4,421,050 A 1,921,250
J| 1,724,000
< 775,800
403 MHXISHHE X201 E 2,499,800 4,421,050 A 1,921,250
J| 1,724,000
= 775,800
01 X SHHXN2E = 2,499,800 4,421,050 21,921,250
OANE20SENAX A 2,499,800
J| 1,724,000




A= SFMRER 2A MEtd =g
HE: ABPsAIMARKD
SH9l: B0 T2 4 A8 E O CERED
L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
| = 775,800
2llst=sHSRSHHARSAY 265,200 130,000 135,200
J| 204,000
== 61,200
403 XX SHHS K20 & 265,200 130,000 135,200
Dl 204,000
= 61,200
01 AIXISHHM A2 X 265,200 130,000 135,200
OfisMEM2REMNHREIA 265,200
J| 204,000
& 61,200
AL - ESHNEFY 1,148,798 3,291,792 A2,142,994
J| 240,000
& 908,798
LSS0 M OFAE A AT & 62,500 62,500 0
307 2iz2to| A 62,500 62,500 0
02 QIZ2IA AAIE E X 62,500 62,500 0
OS50l M oHE A A X & 62,500
AXMMASHEIA 338,298 364,092 N25,794
403 XX SRS K20l A 338,298 364,092 N25,794
01 MXHHXE2E =X 338,298 364,092 N25,794
OJSFEMASHXS 292,368
OSEHZ2SAIFH A& 45,930
M AS SRS 400,000 542,700 A 142,700
403 XX SHHS K20 & 400,000 542,700 A 142,700
01 XIS A2 X 400,000 542,700 A 142,700
oy - SN X 400,000
ESHS(QUAM)MAALBHE X 130,500 145,000 A 14,500
J| 90,000
= 40,500
403 XX SRS K20 & 130,500 145,000 A 14,500
J| 90,000
= 40,500
01 MXSHHXE2BE = 130,500 145,000 A 14,500
OJSSXHS(Qa)MAALSE WS XS 130,500
J| 90,000
&< 40,500
ESAS(HA , YSXAS )MMAIESHSA 217,500 319,000 A 101,500
Dl 150,000
= 67,500
403 XX SHHS K201 & 217,500 319,000 A 101,500
Dl 150,000
o 67,500
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A= SRURS= FN O HEISsS
Ha: AEYSAYWARD
S FRYDLZUULDEILEY CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
CRPCHE=M B AL XA 2,082,000
= 2,082,000
NEZHAYUHESH(EX) 1,774,500 39,000 1,735,500
= 1,365,000
< 409,500
308 XXM SOl A 19,500 39,000 A 19,500
= 15,000
< 4,500
01 AXHHBILEES 19,500 39,000 219,500
ODEFNEHERL (USEEHLEE) 19,500
= 15,000
< 4,500
403 A X EHHSH=0IA 1,755,000 0 1,755,000
= 1,350,000
< 405,000
01 X ESHHMA=LE L 1,755,000 0 1,755,000
ODEAMEHERS (IISAIES U 1,755,000
= 1,350,000
< 405,000
ZEHNMIASHEAN LS WS 180,000 45,000 135,000
403 X SHHS =0l & 180,000 45,000 135,000
01 XM A2E X 180,000 45,000 135,000
OZ=SNMAEHEAIL S U S 180,000
HAHESUESEHH XA 100,000 80,000 20,000
307 21201 A 100,000 80,000 20,000
02 YAFHAANFEE 100,000 80,000 20,000
OBAHEIEEHHA XA 100,000
ZEUNLXEBHESSOAE X 18,000 18,000 0
308 MtXIEHMSOIH 18,000 18,000 0
01 HXNHHBHELS 18,000 18,000 0
(ZSUSL0UCEL0HYN 18,000
SSHIS0UHEZUHMHY XIS 90,000 90,000 0
403 X SHHSA=0l& 90,000 90,000 0
01 HXSHMA=E X 90,000 90,000 0
SSHIS0IHE ZHOH X & 90,000
dY2HIH (FELE =) 15,800 15,800 0
JlE &3l 15,800 15,800 0
JlE&l 15,800 15,800 0
201 ¢er24| 8,800 9,600 A 800
01 At 22l 6,800 8,600 A 1,800
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N = 0l & At & Ml A

SHENRS= PN sENLY
21CHAE SN sHEDIB RS
OlcHE s ECIS MO E (&)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
piR=gn; 226,210,068 208,467,304 17,742,764
= 19,896,564
Xl 189,537,000
= 16,776,504
2ICHAE SN sHEIIB RS 225,164,764 207,393, 164 17,771,600
= 19,896,564
X 189,537,000
< 15,731,200
OlcHE sUHE0tS O 154,117,064 142,819,064 11,298,000
= 82,564
Xl 153,173,000
= 861,500
SHEHOUSAZHE 4,600,000 5,360,000 A760,000
Xl 3,900,000
= 700,000
403 MRS E X201 & 4,600,000 5,360,000 A760,000
Xl 3,900,000
< 700,000
01 X EHH A= LE XL 4,600,000 5,360,000 A760,000
O=sHEHONSAZE (XS ZHI) 4,600,000
X 3,900,000
< 700,000
OHEsHENSHMHEFA 24,500 24,500 0
201 L2l 18,100 18,100 0
01 At 22/l 8,100 8,100 0
Oget=2tl 3,100
OLEsHHENLIRAENE RS 3,100
O2d=¢ 5,000
OstHENEMIMAAZ ST AL AAISE 5,000
03 A2 E Hl 10,000 10,000 0
OsEXNIMLEMEATS 10,000
202 Od4dl 6,400 6,400 0
01 = LH o4 4l 6,400 6,400 0
O=sZE0Ss3E8MNMLERFAN 6,400
AXINOUSUHSI(AS - MISH/ASENY) 46,826,000 41,495,000 5,331,000
X 46,826,000
403 MtXISHHE X201 & 46,826,000 41,495,000 5,331,000
Xl 46,826,000
01 X SHHAN2E = 46,826,000 41,495,000 5,331,000
OFZHUSUHSIN(HEY - USHASE ML )(
ANEAZ) 46,826,000
X 46,826,000
HAUANSZTEZIH(ZAIZH) 850,000 1,675,000 A 825,000
Xl 850,000




A=
EE B E S I ESIFIEE
&2 DIcHEsSHEOS MY (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 850,000 1,675,000 A 825,000
X 850,000
01 HXHMA=LE X 850,000 1,675,000 A 825,000
OHGHAUSESEZIH (ZAIEZ)(XASAZ) 850,000
Xl 850,000
EXINUSUSIFI(AS - MISHASE ML) 7,000 7,000 0
202 044l 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
OFZXNUSUSIFIA(HEL - ISHASEM
2) 0l 7,000
SESH XA 67,751,000 72,011,000 A 4,260,000
X 67,751,000
403 HXSHHSA=0l& 67,751,000 72,011,000 A 4,260,000
X 67,751,000
01 HXSHMA2E X 67,751,000 72,011,000 A 4,260,000
OsEsdNE483H(XSAZ) 67,751,000
Xl 67,751,000
HEXOISHESI| (M R0IEEY) 5,344,000 2,866,000 2,478,000
Xl 5,344,000
403 MtXISHHE X201 E 5,344,000 2,866,000 2,478,000
Xl 5,344,000
01 X SHHXN2E = 5,344,000 2,866,000 2,478,000
OSSO (AADS)(NEANZ) 5,344,000
Xl 5,344,000
Jl=Mgolmet(MaEstAdEH) 10,937,000 11,067,000 130,000
Xl 10,937,000
403 A X EHH S 20l A 10,937,000 11,067,000 130,000
Xl 10,937,000
01 X HHMA=LE L 10,937,000 11,067,000 A 130,000
OJl=Mgolme(MastATH)(XSAZ) 10,937,000
Xl 10,937,000
SEMEEAZIU(ZAIZS) 2,140,000 2,100,000 40,000
X 2,140,000
403 UtXSHHSA=0l& 2,140,000 2,100,000 40,000
X 2,140,000
01 XM A2E X 2,140,000 2,100,000 40,000
OsEd2adF3H(=A2d")(XNSsAZ) 2,140,000
Xl 2,140,000
SRS EN E ALK& 82,564 82,564 0
= 82,564
202 044l 5,856 5,856 0
= 5,856




4T SEHURER SN EENLD
EE B E S I ESIFIEE
&2 DIcHEsSHEOS MY (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 5,856 5,856 0
O=2SMAMEHZALRFA 5,856
= 5,856
308 XtXIEHH SOl A 76,708 76,708 0
= 76,708
01 AXHHBILEES 76,708 76,708 0
O=2S MMM EANZESEX XS 76,708
= 76,708
FEXAAY 1,194,000 1,369,000 A 175,000
Xl 1,194,000
403 A X EHHS K20l A 1,194,000 1,369,000 A 175,000
Xl 1,194,000
01 X HHMA=E L 1,194,000 1,369,000 A 175,000
OZXAAL (XS AZ) 1,194,000
Xl 1,194,000
A A2 5ALY 768,000 490,000 278,000
Xl 768,000
403 UHXSHHS =0l & 768,000 490,000 278,000
X 768,000
01 HAXSHMA=2EE 768,000 490,000 278,000
OXNSA22AS AL (XSAIZ) 768,000
Xl 768,000
AEXNOSUHSI (XIS E20H0ICIHALL) 12,695,000 2,386,000 10,309, 000
Xl 12,695,000
403 XIS E X201 & 12,695,000 2,386,000 10,309, 000
Xl 12,695,000
01 X SHHX2E = 12,695,000 2,386,000 10,309, 000
OIS SI(NLZ20H0ICI 0 ALY ) (X
ENED) 12,695,000
Xl 12,695,000
EXTNOSUHSI(2E) 768,000 0 768,000
Xl 768,000
403 MtXISHHE X201 & 768,000 0 768,000
Xl 768,000
01 XS M A=2EE 768,000 0 768,000
OFZHOSUHSIN(&E)(NSAZ) 768,000
Xl 768,000
sHENSCISL S ALY (XHA) 130,000 0 130,000
403 XIS E X201 & 130,000 0 130,000
01 RXESH K22 = 130,000 0 130,000
Os0E0tS2 S A (XHA) 130,000
HEESEESESS 19,821,600 14,702,300 5,119,300




2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2

= 2,230,000
Xl 16,502,000
= 1,089,600

I ZMEQITH R E2B 2L ) (XH) 7,695,000 6,594,000 1,101,000
Xl 7,695,000

403 X SHHSA=0l& 7,695,000 6,594,000 1,101,000
Xl 7,695,000

01 HXSHMA2E X 7,695,000 6,594,000 1,101,000
Ol =MEd I (N E-BLML)(NSAZ) 7,695,000
Xl 7,695,000

st bl E0 L (X&) 2,508,500 2,342,000 166,500
= 2,230,000
< 278,500

403 Ut S E X201 & 2,508,500 2,342,000 166,500
= 2,230,000
= 278,500

01 X SHHAN2E= 2,508,500 2,342,000 166,500
Ot bl o0 2,508,500
= 2,230,000
< 278,500

I ZME I (sEsPMEESINY) 2,014,000 2,275,000 A 261,000
Xl 2,014,000

403 MM E X201 H 2,014,000 2,275,000 A 261,000
X 2,014,000

01 X ESHHMA=LE X 2,014,000 2,275,000 A 261,000

JIz=MEolIgl (sEsgMEEXIYE) (XS

Al) 2,014,000
Xl 2,014,000

J=MEomeH(ARIEFIHE) 6,793,000 2,680,000 4,113,000
Xl 6,793,000

403 Ut S E X201 & 6,793,000 2,680,000 4,113,000
Xl 6,793,000

01 X EHHMA=E L 6,793,000 2,680,000 4,113,000
OJIZMEZH(ARALESMNL ) (XNSAIZ) 6,793,000
Xl 6,793,000

steEChbl 002 (RHA) 800,000 800,000 0

403 Mt SHHSA=0l& 800,000 800,000 0

01 HXSHMA=E X 800,000 800,000 0
Oste ol =02 (XA 800,000

OHEEsESETMEFA 11,100 11,300 A 200

201 LB-2E| 1,600 1,800 A 200

01 At 22l 1,600 1,800 A 200
Oget=2tl 1,600




raox nx

2 =SNRER SN sENY
I CMAEEN S0 ET MRS
9: INEEERLRT

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

OsEE+HLYRHAENERAUS 1,600

202 044l 9,500 9,500 0

01 = LH 4 1l 9,500 9,500 0
OsEEHEERFANL 9,500

JIAHEsIeta s 32,760,300 41,354,900 A 8,594,600
= 17,584,000
Xl 14,502,000
< 674,300

th=&aXHel 1,077,000 2,412,000 A 1,335,000
Xl 1,003,000
= 74,000

403 A X EHS =0l A 1,077,000 2,412,000 A 1,335,000
Xl 1,003,000
= 74,000

01 X EHHMA=E L 1,077,000 2,412,000 A 1,335,000
O+&E2XHEel(NsEZHl) 1,077,000
Xl 1,003,000
< 74,000

I =MEoTZt(JHSEHZEELE) 4,974,000 6,747,000 A 1,773,000
X 4,974,000

403 Mt SHHSA=0l& 4,974,000 6,747,000 A 1,773,000
X 4,974,000

01 HXSHMA2E X 4,974,000 6,747,000 A 1,773,000

o= Zet(OIASIRZELE)(XNSA

=) 4,974,000
Xl 4,974,000

JIHSEEZSH I (T AEH) 746,000 840,000 A 94,000
Xl 746,000

403 XIXISHHIS X =201 & 746,000 840,000 94,000
Xl 746,000

01 XM A=LE L 746,000 840,000 A 94,000
OJIHSH B2 (A )(XSAZ2) 746,000
Xl 746,000

EPRSIESEs] 8,362,000 8,139,000 223,000
Xl 7,779,000
< 583,000

403 XSS A0l & 8,362,000 8,139,000 223,000
Xl 7,779,000
< 583,000

01 XM A=2EE 8,362,000 8,139,000 223,000
OegEderEu (XS &) 8,362,000
Xl 7,779,000
< 583,000

Bi==OH& (2 E) 12,584,000 23,000,000 A 10,416,000




AR SENRER SN sENSD
M 21 TE=ENsHEDB RS
&2 DA G sOIEt = E (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 12,584,000
402 RI2EX20| A 12,584,000 23,000,000 A 10,416,000
= 12,584,000
01 It AL E X 12,584,000 23,000,000 A 10,416,000
O (HE) 12,584,000
= 12,584,000
B == (K1) 5,000,000 200,000 4,800,000
= 5,000,000
403 UtXISHH S X201 & 5,000,000 200,000 4,800,000
= 5,000,000
01 AXISHHA2E = 5,000,000 200,000 4,800,000
O (RI2) 5,000,000
= 5,000,000
JAtE sI|grEs=a 17,300 16,900 400
201 249 1,600 1,800 A 200
01 At 22/l 1,600 1,800 A 200
Oggt=2tl 1,600
OsglIBtxgAHeEzRAsS 1,600
202 (4l 9,500 9,500 0
01 SLHOIYI 9,500 9,500 0
OsgiIgt 2 d A RFA 0 9,500
203 YR =&l 5,000 5,000 0
03 AIHF=XH R =AH| 5,000 5,000 0
Os&Eggexa 5,000
303 Z& 3 1,200 600 600
01 243 1,200 600 600
OsgIIst X dAMEFIRISREAAY 1,200
THGH CHHI =2l Al & Z I 18,465,800 8,516,900 9,948,900
X 5,360,000
< 13,105,800
ol ol &= = <=2l Al 2 H HI 6,000,000 5,000,000 1,000,000
403 XSS X201 & 6,000,000 5,000,000 1,000,000
01 AXSHMA2E = 6,000,000 5,000,000 1,000,000
OMoiolg == s=clAl& EHl 6,000,000
FU=RA S =2 FHIALSY 2,629,000 0 2,629,000
403 A X EHHSKH20IA 2,629,000 0 2,629,000
01 X HMA=2LEE 2,629,000 0 2,629,000
Ox0=2A =2 FHIAIS 2,629,000
FU=SASHMAAIAE D BHE Y 200,000 0 200,000
403 MHtXSHHS =0l & 200,000 0 200,000




A=
M (MBS NS0 EIBRE
©2l: Mol Hel =2l AlE J Yl (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HXSHMA2E X 200,000 0 200,000
OFU=2StH+=2FHIAIA S 200,000
2T HH| 274,000 247,000 27,000
403 MtXISHHE X201 & 274,000 247,000 27,000
01 AXISHH A2 E= 274,000 247,000 27,000
D=L e+ F 274,000
ANZ=elAEE > 5,360,000 0 5,360,000
Xl 5,360,000
403 A X EHHS =0l A 5,360,000 0 5,360,000
Xl 5,360,000
01 X EHHMA=LE L 5,360,000 0 5,360,000
OANZel A8+ (XS EHl) 5,360,000
Xl 5,360,000
CEEHd=XEY 3,500,000 3,000,000 500,000
403 MHXSHHSA=0l& 3,500,000 3,000,000 500,000
01 HXSHMA2E X 3,500,000 3,000,000 500,000
O-=A8 d=X1&Hl 3,500,000
M=XIHEZH 275,000 258,000 17,000
403 MtXISHH S =0l & 275,000 258,000 17,000
01 AXISHHA=2E = 275,000 258,000 17,000
OM=XHMg &bl 275,000
ol ChHl =2l Al & ZHI =& 11,800 11,900 A 100
201 Let24d] 2,800 2,900 A 100
01 At 22l 2,800 2,900 A 100
Opt=2Hl 800
OMolitidl=clAI € EHIAHE T2 RS 800
[E=3=3:] 2,000
OMtHIH &2 R X2 4l 2,000
202 o4dl 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
OHoHCHHl =l Al EHIE =& O I 9,000
H=Xs+=A=SZEXLX 216,000 0 216,000
403 XIS E X201 & 216,000 0 216,000
01 X SHH2E = 216,000 0 216,000
OM=XXAs=ASEE XX 216,000
HE2LAZH (sESHL ) 49,304 50,140 A 836
el 2l 26,714 22,440 4,274
ol 29 Y| 26,714 22,440 4,274




AR SENRER SN sENSD
MY B2 AL (SENLD)
Sel: o2y (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
101 14 Hl 26,714 22,440 4,274
03 RIAHAZ 22+ 26,714 22,440 4,274
O=23sMat2te] 26,714
OoJlzs 1,339,200& x1H + 123 16,071
o&n= 1,339,200 =1 «320% 4,286
Og X4 44 6403 1H %192 849
OF=E=E =y 49,000 «1H « 122 588
OusSEXH 60,0003 1 122 720
OFEFItHI 600,000& 1 »23] 1,200
OFAZ A 130, 0003 x1H «12& 1,560
O&E=<(H*X) 40,0003 «1H 128 480
ON=E=< (JIEIIE) 20,000 «4H « 122 960
D] 22,590 27,700 A5,110
JlE2&l 22,590 27,700 A5,110
201 L4l 16,590 18,700 A2,110
01 At 22l 16,590 18,700 A2,110
Oger==&H| 11,390
OV 2YEIIANHEFA=EES 1,500
OLEANEESESFLLIEL==EH| 4,500
O=7MuIRFIREFO 700
OaxRd=sZYHIS 4,690
[E=3=3:] 5,200
O=ZMgIRFI G4 5,200
202 04l 6,000 9,000 A 3,000
01 = LH o4 1l 6,000 9,000 A 3,000
OsENgE =80 6,000
Heegs(sEien) 996,000 1,024,000 228,000
WHEHHX S 996,000 1,024,000 A 28,000
~2l AR 4 (06X N2II2) 996,000 1,024,000 28,000
705 == &cl=34E 996,000 1,024,000 A 28,000
03 Al - SXNGNEI S0 AI &S 800,000 800,000 0
O=clANEME=('06XAMLINS) 800,000
04 Al - EXHHLII S0 =01 Xtat &t 196,000 224,000 A 28,000
O=clANEMHE= (06X EMLINS) 196,000




= A
N = 0] &F AF S & AN A
A SEURER SN EA4EYD
Hu: SMYUHAY
S9 YSSHLYBHAY (e9: & 9)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
=P R 85,219,983 78,095,908 7,124,075
= 27,956,760
Xl 450,000
Jl 31,059,407
= 25,753,816
SAT L MALS 83,960,083 76,333,268 7,626,815
= 27,848,760
Xl 450,000
Dl 31,059,407
= 24,601,916
ALY ES ALY 5,234,600 4,670,800 563,800
2ASLEHE XA 899,000 720,600 178,400
307 QI2t0| ™ 50,000 75,000 A 25,000
02 QI2AtAAMAIE E =X 50,000 75,000 A 25,000
JZASHLEHEME=RUH| A& 50,000
308 XAHXIEHSOlIA 540,000 540,000 0
01 AIXSHMEMNEX= 540,000 540,000 0
OF3MEE=24 (DNA) X & 90,000
OstNIE=c&E A=A 450,000
402 SI2vXH=20| ™ 13,800 105,600 A 91,800
01 QIZEXIE2AIE 2 X 13,800 105,600 A 91,800
OZYstEHEWSE X 13,800
403 XX SHHS K20 & 295,200 0 295,200
01 XIS A=Z2E X 295,200 0 295,200
P = PSP = PN 70,200
IS A E O &YX & 225,000
SO0FKI A AFOFA A 180,000 180,000 0
308 XAHXIEHSOIA 180,000 180,000 0
01 AIXSHMENMNEX= 180,000 180,000 0
[ O0FRI M AFOFE AF S 180,000
SHLIMFALSY 634,500 656, 100 A 21,600
308 XX G SOl A 634,500 634,500 0
01 AIKSHHEMNEX= 634,500 634,500 0
OsdAsddHAE 519,000
Ot £=Aet0| A ALY 115,500
SASIHII AR 1,276,200 711,000 565,200
403 XX SHS K201 & 1,276,200 711,000 565,200
01 XIS A=2E X 1,276,200 711,000 565,200
OFAts AR & 1,276,200
ESRNES Ryl = 1g=Tp—aC) 1,366,900 1,375,100 A 8,200
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AR SENRER SN EAAAD
HI: ENSUTAY
oSl AR AT CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
M AT 14,541,330 16,041,900 A 1,500,570
J| 8,543,100
& 5,998,230
IMNSHAD| A S 12,751,230 14,153,300 A 1,402,070
J| 8,543,100
< 4,208,130
403 MHXSHHSA=0l& 12,751,230 14,153,300 A 1,402,070
J| 8,543,100
< 4,208,130
01 X ESHHMA=E L 12,751,230 14,153,300 A 1,402,070
OZAS A Bt S AL 12,751,230
J| 8,543,100
=) 4,208,130
NS AT ALY 1,710,100 1,888,600 A 178,500
307 glz2tol & 40,000 40,000 0
02 It MAHEE 40,000 40,000 0
OXZANZHII=EZ 40,000
308 XXIEHHSOIA 375,000 720,000 A 345,000
01 X HHILEES 375,000 720,000 A 345,000
OXZAglRSH XA 186,000
OO=X0lZ I XM X & 45,000
OJASZAISTHH X 2 & 144,000
403 A X EHHSH20IA 1,295,100 1,128,600 166,500
01 X SHHA=LE L 1,295,100 1,128,600 166,500
OEANSMAZH XA 957,600
OMSHEIIXHA 94,500
CITMRAFZ At &S & TH I K & 135,000
LI Z MM 2 Al XT3 108,000
EMNSAHEILL A& 80,000 0 80,000
403 MtXISHE X201 & 80,000 0 80,000
01 X SHHAN2Ex 80,000 0 80,000
O=ZMESHStHdERASH 80,000
S HRs2e 8,060,857 7,571,031 489,826
= 16,000
Xl 450,000
J| 4,959,037
= 2,635,820
CEZIMI2EN 1,059,000 725,000 334,000
J| 635,400
< 423,600
307 21201 A 1,059,000 725,000 334,000
J| 635,400




4T SEHURER SN ENBYD
Ha: EMYUHAY
el SERsS2 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
== 423,600
02 It M AMHEE 1,059,000 725,000 334,000
ODE=ZAMIA2SXA 1,059,000
J| 635,400
< 423,600
SAMS01EH 1,342,829 1,342,829 0
J| 1,029,887
= 312,942
307 21201 A 11,357 11,357 0
J| 5,678
< 5,679
02 QItFAAHE X 11,357 11,357 0
O =4S01 2 X (ONAZ AL 11,357
J| 5,678
< 5,679
308 A EHSOIA 1,331,472 1,331,472 0
J| 1,024,209
< 307,263
01 HXNHHBMNEES 1,331,472 1,331,472 0
OF&S0I8M(HEZ ) 1,331,472
J| 1,024,209
< 307,263
EMSHACCPAHAE E (s &) ALY 176,400 196,000 A 19,600
J| 144,000
< 32,400
308 XXM SOIA 176,400 196,000 A 19,600
J| 144,000
< 32,400
01 AXHHBIYEES 176,400 196,000 A 19,600
OFASHACCPAE E (s &) ALY 176,400
J| 144,000
< 32,400
SNERSEHS 433,140 612,300 A 179,160
308 XX EHH SOl A 141,750 141,750 0
01 HXNHHNBHELS 141,750 141,750 0
O=&S0IEMAE XA 141,750
403 XSS =0l & 291,390 470,550 A 179,160
01 XM A=2E X 291,390 470,550 A 179,160
O=MEKSEHHEXSH 112,500
OMSs/SHEEMIAY 148,890
OMESssSIHEIRA 30,000
SRR E=IpS ] 119,500 152,500 A 33,000
202 oddl 30,000 30,000 0




SE2UREI SN EMZSD
ENLLTAY
SiExrs2el chel &9l
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
01 = LH 4 bl 30,000 30,000 0
OuSAML =0 30,000
307 21201 A 37,500 44,500 A7,000
02 LB AAFEX 17,500 24,500 A7,000
JZ9EHEZTZ WA 17,500
04 DIZHHALALSE E X 20,000 20,000 0
O&sHASEUNMFA 20,000
308 XXIEHH S0l A 52,000 78,000 A 26,000
01 IXNSHHBANEES 52,000 78,000 226,000
OSMSEHEMET I M XA 8,000
OFMSAHSHHALXR 44,000
=X 626,688 547,200 79,488
308 XXM S0 A 237,888 117,000 120,888
01 AXNSHHBLAEES 237,888 117,000 120,888
ORAFESEINS ALY 95,772
OYsg8H(ER0) XA 72,116
OZSRAEAEASES NA 70,000
403 MtXISHHE X201 & 388,800 430,200 241,400
01 AXSHHMA=2EE 388,800 430,200 A 41,400
OYsIIATHAE 388,800
SHENI =SS AR 504,000 896,000 392,000
Xl 450,000
= 54,000
403 A X EHHS =0l A 504,000 896,000 A392,000
Xl 450,000
= 54,000
01 X EHHMA=LE L 504,000 896,000 392,000
OSHANSANEXNIA(XNSEH) 504,000
Xl 450,000
< 54,000
StNRRISAXA 3,779,700 3,060,002 719,698
| 3,149,750
< 629,950
308 XXM S0 A 3,779,700 3,060,002 719,698
| 3,149,750
< 629,950
01 AXNSGHBLEES , 779,700 3,060,002 719,698
Ostnesasal X 3,779,700
| 3,149,750
< 629,950
ELMSHACCPHAE E (I3 &) ALY 19,600 39,200 A 19,600
= 16,000




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

< 3,600

308 XX EHSOIA 19,600 39,200 A 19,600
2 16,000
< 3,600

01 IXNHHBNEES 19,600 39,200 A 19,600
O A SHACCPH A E (It & )AL 19,600
= 16,000
< 3,600

IrEE A 37,891,580 26,033,964 11,857,616
2 27,832,760
J| 2,289,563
< 7,769,257

HEAsEigARY(OIsLA) 626,288 323,568 302,720
2 313,144
< 313,144

206 = Hl 626,288 323,568 302,720
= 313,144
< 313,144

01 MHZ 4l 626,288 323,568 302,720
SEPEETET 626,288
=2 313,144
= 313,144

IIELIEAERLH (HEL ) 7,804,813 8,167,231 A 362,418
= 6,636,039
< 1,168,774

308 MXIEHSOIH 7,804,813 8,167,231 A 362,418
= 6,636,039
< 1,168,774

01 HXNHHNBHEES 7,804,813 8,167,231 A 362,418
OotsgdAAdZ 2] 7,804,813
= 6,636,039
=) 1,168,774

ACZMEYES Y (ISYA) 957,653 964,792 AT7,139
= 563,325
=) 394,328

308 XXM SO0l A 957,653 964,792 AT,139
= 563,325
=) 394,328

01 IXNSHHBNEES 957,653 964,792 AT,139
OABZHAdEHE 2| 957,653
= 563,325
< 394,328

OSSNSOt Sg ) 71,500 136,500 165,000
2 55,000
< 16,500

403 XIS S X201 & 71,500 136,500 A 65,000




A SEURER SN EA4EYD
Hu: SMYUHAY
Sl ISP ALY CERED
- i - o
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2

= 55,000
& 16,500

01 XIS A=Z2E X 71,500 136,500 A 65,000
g &H X & 71,500
= 55,000
= 16,500

IIEQMBA2LTADISEE2EN) 1,289,000 1,257,500 31,500
J| 773,000
=} 516,000

307 QI2t0| & 1,289,000 1,257,500 31,500
J| 773,000
=} 516,000

02 QI2tAAMAIE E =X 1,289,000 1,257,500 31,500
et @0l 2| 1,289,000
J| 773,000
& 516,000

HRNARDHEEX XA 136,500 120,900 15,600
2 105,000
= 31,500

308 AXIEHSOIA 136,500 120,900 15,600
2 105,000
o= 31,500

01 AIXSHMENMNEX= 136,500 120,900 15,600
OHXNARHEEESXTALS 136,500
= 105,000
= 31,500

HBI2ASOYLSA(IIZSEHI2EHM) 1,971,528 1,840,285 131,243
J| 1,516,563
& 454 965

308 XAXIGHHM SO0l & 1,971,528 1,840,285 131,243
J| 1,516,563
& 454 965

01 HXHHBIMNEXS 1,971,528 1,840,285 131,243
A3 1,012,565
J| 778,900
== 233,665
OASAHESAEH 958,963
J| 737,663
& 221,300

MAHEEMNZXSE 21,375,000 10,750,000 10,625,000
= 19,000,000
= 2,375,000

308 XHXIGH SO0l & 21,375,000 10,750,000 10,625,000
= 19,000,000
= 2,375,000

01 AIKISHENEXZ 21,375,000 10,750,000 10,625,000




42 sENRER M SNFYD
Ha: EMYUHAY
SR =L AAY (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OadzeaszNE 21,375,000
= 19,000,000
< 2,375,000
IIEZE 0 ALY 2,150,970 2,119,520 31,450
206 = Hl 100,000 100,000 0
01 MHZ 4l 100,000 100,000 0
A= j-ige:g.l 100,000
308 XX EHH SOl A 1,836,770 1,633,120 203,650
01 HXNHHNBHELS 1,836,770 1,633,120 203,650
OFMESSAAS 264,000
Ot=sz2gu Xz 775,860
Oot=sgAelAd X & 308,100
O3 X& 228,960
OBMAEY ARXSM KR 163,350
OJ)3=sHEeEsSLASHAR 82,500
OFMA/AIDIS S AZAX R 14,000
403 UHXSHHSA=0l& 214,200 386,400 A 172,200
01 X EHHMA=LE L 214,200 386,400 A 172,200
OASAIEX A 214,200
SUTESEN 353,668 353,668 0
2 272,052
< 81,616
308 XX EHHSOIA 353,668 353,668 0
2 272,052
= 81,616
01 HIXNHHNBNEES 353,668 353,668 0
OIS EN 353,668
= 272,052
< 81,616
Ol AE S Al =8I 780,000 0 780,000
= 600,000
< 180,000
308 XXIEHHSOIA 780,000 0 780,000
= 600,000
< 180,000
01 X HHILEES 780,000 0 780,000
o s S E Al = 780,000
= 600,000
< 180,000
lesit2g el & 58,500 0 58,500
= 45,000
< 13,500
308 A EHHSOIA 58,500 0 58,500




42 s54RER SN EMALD
HE: ENAUTAY
SR =L AAY (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 45,000
< 13,500
01 IXNHHBNEES 58,500 0 58,500
OotssotEg el X 58,500
= 45,000
< 13,500
HENHASAIE 316,160 0 316,160
= 243,200
< 72,960
403 XIS E X201 & 316,160 0 316,160
= 243,200
< 72,960
01 AXSHHMA2E = 316,160 0 316,160
OAEMELASAA 316,160
= 243,200
< 72,960
ERNESELP) I 14,293,000 15,681,683 A 1,388,683
J| 13,299,000
< 994,000
L= &AL 256,000 333,900 ATT7,900
308 A EHHSOIA 256,000 333,900 ATT7,900
01 HXNHHNBHELS 256,000 333,900 ATT7,900
OS2 =AAY 200,000
LISAMHAEAI AR 56,000
2 H X2 A 286,200 178,200 108,000
308 XX EHHSOIA 286,200 178,200 108,000
01 AXHHILEES 286,200 178,200 108,000
O&AZHAL S 286,200
LS KE ALY 414,000 414,000 0
308 A EHHSOIA 414,000 414,000 0
01 HXNHHBHELS 414,000 414,000 0
OXSII XA 414,000
SAANEESEUS AL 7,173,000 13,800, 000 A6,627,000
J| 7,173,000
403 XSS =0l & 7,173,000 13,800, 000 A6,627,000
J| 7,173,000
01 X SHMA=2E X 7,173,000 13,800,000 26,627,000
OSAMAESEUSAY 7,173,000
J| 7,173,000
ETEREES 163,800 163,800 0
J| 126,000
< 37,800




SEURES FA O EAE
AU AL
SRE=E P

02
]

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

308 X EHSOIA 163,800 163,800 0
J| 126,000
< 37,800

01 HIXNHHBHNEELES 163,800 163,800 0
OESEISESAE 163,800
J| 126,000
< 37,800

FTIALIGHE M A =23 3,100,000 0 3,100,000
J| 3,100,000

308 XXM SOIA 3,100,000 0 3,100,000
J| 3,100,000

01 AXHHBISEES 3,100,000 0 3,100,000
OJosi2dza3(144) 3,100,000
J| 3,100,000

FTAHI S X & 3 2,900,000 0 2,900,000
J| 2,900,000

308 XtXIEHHSOIA 2,900,000 0 2,900,000
J| 2,900,000

01 X HHILEES 2,900,000 0 2,900,000
OHYX 22 (144) 2,900,000
J| 2,900,000

IS LMRE 3,581,736 6,036,750 A2,455,014
Jl| 1,899,107
= 1,682,629

S HMelAlE 2,570,436 4,850,850 A2,280,414
J| 1,899,107
< 671,329

403 UHXSHHSA=0l& 2,570,436 4,850,850 A2,280,414
J| 1,899,107
< 671,329

01 XM A=LE L 2,570,436 4,850,850 A2,280,414
ON=2adMel XA 2,570,436
J| 1,899,107
< 671,329

TS EFLRE ALY 1,011,300 1,185,900 A 174,600

308 XXM SO A 768,300 622,500 145,800

01 IXNHHBNEES 768,300 622,500 145,800
Ol Z ol s HMA X 100,800
OSBAHNHZ M 90,000
OHISLSEMNSEHINX A 504,000
ORSH=AMS0SH X 73,500

403 UHXSHHSA=0l& 243,000 563,400 A 320,400

01 HXSHMA2E X 243,000 563,400 A 320,400




W

i
x
]
>
[
02
S

= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
| | ODSHHH HAALT A 243,000
ZOEHLEREA 356,980 297,140 59,840
| 69,600
< 287,380
PAASLHYH 266,500 258,540 7,960
201 L2l 10,000 0 10,000
01 At 22l 10,000 0 10,000
Ogs+< 10,000
OLgMgsL3osdEdsY 10,000
308 XXM S0 A 94,500 50,000 44,500
01 HXNHHNBNEELES 94,500 50,000 44,500
O ATH 94,500
403 MtXISHE X201 & 162,000 208,540 A 46,540
01 X SHHAN2E= 162,000 208,540 246,540
OgazsdEgad 126,000
OZASAIESZHA 36,000
SO & H 5 90,480 0 90,480
| 69,600
< 20,880
403 MtXISHHES A0l & 90,480 0 90,480
| 69,600
< 20,880
01 HIXSHMA=2EE 90,480 0 90,480
ONZSESOIAIE M AAY 90,480
J| 69,600
< 20,880
HeXasZ gL 140,400 660,640 A 520,240
= 108,000
= 32,400
S 2 2HEHAL= 2t 2 140,400 660,640 A 520,240
= 108,000
< 32,400
THEII=0HS X EHI AL 140,400 587,340 A 446,940
= 108,000
< 32,400
308 XXM SOIA 140,400 587,340 A 446,940
= 108,000
= 32,400
01 IXNHHBAMNEES 140,400 587,340 A 446,940
OJt=0 S X At= 22l 140,400
= 108,000
< 32,400
2gZH(F4F L) 69,500 52,000 17,500
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B E(B) - MEAY - BES Of & o il

SEM 649,052
-6= (255 8) 3,381, 100& x2H + 123 81,147
-72(2688) 3,109,200 x9H «12& 335,794
-8= (128 8) 2,159,000& x2H x 123 51,816
-oRA (2B E) 4,812,200 x1H «12& 57,747
-HAA(27TEE) 3,404, 1003 «3H 123 122,548
OFSE=Ea=y 649,052,000& *1/12%50%*2H 54,088
OFZx=Eitet= 18,720
- 204 0l &f 100,000 x 13 «12& 15,600
- 158 0] & ~20= 0] &t 80,000 «2H »12& 1,920
- 108 0l &f~15= 0] 2t 50,0003 «2H 122 1,200
112,877
=g 15,535
SERE+HE 15,535

6= (255 8)
3,381, 100& »4 . 1%*2H « 122 3,328

72(2658)
3,109,200& *4 . 1%*4H « 122 6,119

8= (128 8)
2,159,000& *4 . 1%+ 1H « 122 1,063

CAFRAH(2TEE)
3,404,100& *4. 1%+3H «12& 5,025
28+ 24,760
- s 19,200
il < Xt 40,0003 x18F «12& 8,640
JIEHIHS 20,0003 +«36H +12& 8,640
itz 80,000 «2H 122 1,920
- AESHIE xR 5,560
nsstd 463,300 x3H x4 3] 5,560
OE=22+8 7,320
-SxdRsg0Is¥3EsY) 3,480
6~7= 30,0003 «5H «12& 1,800
8= 0l ot 20,000 «2H « 122 480
BIESE=YGIESESIIPND

30,0003 x2H «12& 720
a3 (2dd) 20,0003 «2H 122 480
-HPYRE 80,000 «4H 128 3,840
OxU2R*ES 64,062
-HA= 9,886& *10Al 2t+18H «12& 21,354
-ZE 9,886% x20Al 2+ 18H «12& 42,708
ORESRE Y 1,200
-RYEIZRA 50,000 «2H « 122 1,200
OFNZ A 130,000 x 18 x12& 28,080




SEREEE] SN s
EEEEEENCEWERTED
o122 2 h|

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OYEF Oty 649,052,000% *1/12x60%*23! 64,906
OAIE &I
793,052,000 *1/12%86%+*1/30% 19 35,996
03 RIAHAZZRHE > 336,428 285,480 50,948
OsJA=2d& 226,079
OJles 1,784,700 x7H «12& 149,915
Od0= 149,914,800 *1/12%320% 39,978
Ogxt==g 59,490 «7H x252 10,411
OozZ2s+% 80,0003 «7H 128 6,720
OANAS2R4g
59,4902 *1.5/8%2 Al 2h+7 2 x30L 4,685
OsgIz2f=+% 59,4903 *1.5+7H «15¢ 9,370
ool 5,000
OSAMABE AIS(ZE)Z 48,889
OPIE--= 1,339,200& »2H «12& 32,141
Oa0= 32,140,800% *1/12%320% 8,571
O xt==g 44 6403 +2H x222 1,965
OozZ2s+¢ 80,000& «2H 122 1,920
Ol 140
OERZf=E 44 6403 +1.5x1H «52F 3,482
Oxgzf=+% 44 6403 x1 . 5x1H 10 670
s 8,640
Ot <Xt 40,0003 «9H «12& 4,320
OJIEHItE 20,0003 x18H +x 123 4,320
Owns&E 2l 60,000 «9H 128 6,480
OY”EF Ot 600,000 x9H »23] 10,800
OF A g A 130,000 x9H «12& 14,040
O5HEd 21,500
204 AR AH| 39,540 38,700 840
02 22 =4 39,540 38,700 840
4= 400,000 «2H 128 9,600
A2 250,000& x1H «12& 3,000
6=, o At 155,000 x5 x12& 9,300
Ur= 140,000& x9H 128 15,120
18,92 105,000 »2H «12& 2,520
JlE3l 172,890 142,550 30,340
JlE2&l 172,890 142,550 30,340
201 Let2 Y| 104,520 80,680 23,840
01 At 22l 59,720 42,280 17,440
gpt=ZHl 22,790
OJIZMeE3LEITY 7,600
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AR sEMRESR SN EMDIE
SRR NP TEEE=
Sl BAJSHPHLESHALT CERED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
[mpmE=3:]] 1,000
O M= 8l 300
307 212t01 & 90,000 114,200 N 24,200
05 A2t &2 90,000 103,200 A 13,200
OFMEALAZEA 30,000
Jdgsd 60,000
405 XtabF S| 57,800 14,000 43,800
01 Mt =S F St 56,800 13,000 43,800
guedssxm) 45,000
CJPC(4cCH) 5,000
OCIXIE2tniek(1th) 400
OJOoIZXH(2th) 4,000
gTvied) 2,400
02 &S A7 bl 1,000 1,000 0
OFMII=sNdECA 1,000
ISP (BAIEATL) 2,055,662 1,861,135 194,527
ol 2AHY| 1,959,977 1,765,695 194,282
ol 2AH| 1,959,977 1,765,695 194,282
101 @121 1,911,257 1,717,995 193,262
01 22 983,919 883,333 100,586
OJles 708,710
Od=H 71,492
- 42 71,492,000& x1H 71,492
Oz sH 573,136
-2 (218 2) 3,721,500 x1H x12& 44,658
-62(1452) 2,939,400 3G x12& 105,819
-72((2082) 2,865,200 x7H x12& 240,677
-83 (123 2) 2,159,000& 3G x12& 77,724
-92(988) 1,773,900& *3H »12& 63,861
-HRA (262 2) 3,366,400 x1H «12& 40,397
o&8z2=4¢ 573,136,000& *1/12%50%*2 3] 47,762
O&dIZx4Itat3 16,320
- 253 0| & 130,000& »2H +12& 3,120
- 20 0| At254 0] 2F 110,000& 3 x12& 3,960
- 1549 0] 4204 0] 8t 80,0003 x3H x12& 2,880
- 10 0l &H154 0] 2F 60,0003 x8H x12& 5,760
- 548 0] AH10E 0] Bt 50,0003 *x1E x12& 600
O+ 157,436
(@RS 4,379
-eRsRAY 4,379




4= s54Rs3 SN EOIIE
HM: HY2HAH (SEMIsHRA)
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
=g 3,057,000 x4 . 1%~ 1H x12& 1,505
-2z UR 2,472,900 x4 . 1%*1H x12& 1,217
iRz e
3,366,400& x4 . 1%*1H x12& 1,657
OJtHBEESE 25,014
-EY 17,160
- Bl X 40,0003 x15H x12& 7,200
- JIEHDFS 20,000& *33H ~12& 7,920
PIRS = 80,000& x1H x12& 960
JHAES 30,0003 *3¥9 x12& 1,080
- AESHHI B X 4G 463,300 x 1 43| 1,854
-R05AY 500,000 x1H x12& 6,000
OEx22g 14,040
-PE2RELY 4,440
== 50,0003 x1H ~12& 600
=23 40,0003 x8H x12& 3,840
-JlsdEsrY 5,040
52 50,0003 *x1H x12& 600
6-7=2 30,000& x6H x12& 2,160
- 820l ot 20,000& x5 x 128 1,200
JEAFZ2 (DAL 30,000 *x1H »12& 360
DFAFZ2 (A DI AF) 20,0003 x1H ~12& 240
b2 (2 & FY|) 20,000& »2H x12& 480
- ZEREYY 3,600
oMY 2R 150, 000& 2 x12& 3,600
-HAHEERESY 960
ARXNZLRA 80,000& x1H x12& 960
OxU=2RYS 90,162
-A2E 2R 90,162
Mz 9,886& x10A| 2tx19H x12& 22,541
= 9,886& *30A| 2t*x19H x12& 67,621
Ose22sY 79,4673 6 x50 23,841
O HZAH| 130,000& »20H x12& 31,200
OYEE Z Ot 573,136,000 «1/12%60%*23] 57,314
OAHIE At
644,628,000 *1/12%86%*1/30%x 19 29,259
02 JIEt& E % 343,793 340,334 3,459
O M H A 343,793
Ogerd I A 290,914
- 53 60,334,000& *x1H 60,334
-724AE 38,430,000& x6H 230,580
OiItEsx=Y 3,840




4= s54Rs3 SN EOIIE
M HH2IZH(FMI=HRL)
Sel: o2y (B9 ®R)
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
- B X 40,000 *4H « 122 1,920
- JIEH S 20,0002 «8H 12 1,920
OAN 2R 24,914
-3A= 9,886 *10AI 2t+7H «12& 8,305
-xitE 9,886% *20A| 2t+7H « 12 16,609
(OF<Ea= Nl 130,000& »7&H 123 10,920
O It 4|
290,914,000 *1/12%86%+*1/30% 19 13,205
03 RN AHAAN2Z2NHE =+ 583,545 494,328 89,217
& A2t el 28,081
OoJlzs 1,339,200 x 1« 12& 16,071
o0z 16,071,000& = 1/12%320% 4,286
OAR=< 44 6403 «1H 202 893
oz2x=+¢ 70,0003 122 840
OusE x| 60,000 «1H « 122 720
Og 2 =Ftdl 600,000& 1 »22 1,200
OF A=A 130,000& x1H «12& 1,560
ONM2AZREE
44,640 +1.5/8%25A| 2+ 1H x 128 2,511
J&EAZ HI 33,972
OPIR== 1,587,900& x 1P «12& 19,055
odd= 19,055,000& = 1/12+320% 5,082
Og Xt 52,930 «1H »232 1,218
o254 84,000& 12 1,008
OunsEXHl 60,0002 «1H « 128 720
OZEFtyl 600,000 12 %23 1,200
Og A=Al 130,000 x1&H 123 1,560
Os¢2*eE 52,930 1.5+ 1H «52 4,129
RSN Pal=) 36,719
OoJlzes 1,749,900& x1H «12& 20,999
Od0= 20,999, 000% *1/12%320% 5,600
Ogxt==< 58,330 «1H »232 1,342
o254 88,000& 12 1,056
O&E=d 960
- B X 40,0002 «1H 128 480
- JIEH S 20,0002 «2H 128 480
Ous&E x| 60,000 «1H x 122 720
Og 2 =Ftdl 600,000& * 1 »22 1,200
OF A=A 130,000& x1H «12& 1,560
ONM2AZREFE
58,3303 x1.5/8*25A1 2t 1H « 12 3,282
OsJA=2d& 219,305
OoJlzs 1,784,700 x6H «12& 128,499




4T SEHURER SN SAdBHRA
MY @AY (FMIIEARL)
Sel: o2y (B9 ®R)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
Oan3 128,499,000 *1/12%320% 34,267
O9xt=¢ 59,4903 x6H x 18 6,425
o254 323,000& x12& 3,876
OIEsx=Y 5,280
- B 2 Xt 40,000& x4H x12& 1,920
- JIEHHS 20,000& x12¥ ~12& 2,880
- AU XS 40,0003 *x1H x12& 480
Ouns 2| 60,000& x6H 12 4,320
OY ZE = 600,000& 23| x6H 7,200
OF MU Z A 130,000 x6H x 12 9,360
OANZ2R+Y
59,4902 x1.5/8%25Al 2H+6H x 128 20,078
OANEAHARE X 55,107
[OPIR==] 1,339,200 x»2H »12& 32,141
oan=2 32,141,000 *1/12%x320% 8,571
Od X< 44,6403 »2H x 16 1,429
o=2s52Y 42 ,000& x12& 504
OIESY 480
- B X+ 40,0003 18 +x12& 480
Ons 2 x| 60,0003 x2H x 128 1,440
OY &SIyl 600,000 2H x23| 2,400
OFHZAHI 130,000 x2H +12& 3,120
OAZIA2 2L
44 6402 x1.5/8%25A| 2+ x2S x12& 5,022
OMsE=X 140,361
oJl=3 1,339,200& x5+ 12& 80,352
Oan3 80,352,000 x1/12%320% 21,428
O9 X< 44 6403 x5 18 4,018
o252 224 ,000& x12& 2,688
OiIEsx=Y 1,920
- B 2 Xt 40,0003 x2H x 128 960
- JIEHHS 20,0003 x4H x12& 960
OnE2xH| 60,0003 x5H x12& 3,600
OY ZE S| 600,000 *5H *23] 6,000
OFHZAH| 130,000& x5 x12& 7,800
OAZIA2 R4
44 6402 x1.5/8%25A| 2+ x5 x12& 12,555
04l 3,000
==l 3,000
o= 4l 4,000
COO5tHAtE 28 60,000
204 = 2 43 A b 48,720 47,700 1,020
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4R zENRS3 SN OIEAMAE
HE: JIEYAUENSAA
Sl ISP ALY CERED
= _ - 4 &
SERE L RE-ERY=E1C PRy EVE-RE-EL 0f o e HI D52
RE=FSPY =] 774,529
= 456,412
= 318,117
CJ0t0l 2 St 2 0kol & ef 20,493
= 14,394
= 6,099
OBSEXI H3 E 48,000
2 24,000
S 24,000
OMFFRZEZ2LIHE S A 175,000
= 87,500
= 87,500
WE=FsE=PADNE=3:] 70,091
= 70,091
405 TtatF S 935,000 1,460,000 525,000
= 467,500
CS 467,500
01 THatL 2 S5 SH 935,000 1,460,000 525,000
O A& HI 905,000
= 452,500
S 452,500
OgaAxte 30,000
= 15,000
= 15,000
SMEHAM 1,033,357 842,430 190,927
= 259,620
Jl 5,679
CS 768,058
SMSALHA 313,240 398,388 85,148
201 2er= 14,000 14,000 0
01 At 22l Hl 14,000 14,000 0
Oget=24l 8,000
O& & H=xclbl 2,000
OFduISUMMES 2,000
OBMSUHLERSROS 4,000
o=l 6,000
OSUSAMZASAMIII=H S 6,000
202 Ol 57,240 63,600 26,360
01 2ot 57,240 63,600 16,360
OF& =S A0 57,240
207 Ao 141,000 141,000 0
03 Alg &3 22 HI 141,000 141,000 0
Osd S 17,500
OSSASEAE 18,000
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A= SFMRER 2A IS MAIE
A ISYHUS NS A
SHelr SMSAM CER-ED
L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2
OaBtL&H| 6,640
O=ELEHAABZEHH| 6,640
= 3,320
= 3,320
02 2224 4| 148,000 50,000 98,000
[OAIE &H|l S AlHI 148,000
OF A2 AEH KX E 2| 148,000
2 74,000
= 74,000
405 XHo&HF S HI 270,000 125,000 145,000
= 135,000
= 135,000
01 XA 2 ZF S H| 270,000 125,000 145,000
O=EASZ AR 2] 270,000
= 135,000
= 135,000
SMNSINSEEA 25,900 17,400 8,500
= 17,300
& 8,600
201 LBt Y| 9,200 12,400 A 3,200
= 4,600
& 4,600
01 AP 22| d| 9,200 12,400 A 3,200
Ogs=2H| 9,200
O=ELSEHAAZS=HY] 9,200
= 4,600
& 4,600
207 742l 8,700 0 8,700
= 8,700
03 Al A 32| 8,700 0 8,700
OASII2S 2 A S 8,700
= 8,700
405 XH&HF S HI 8,000 5,000 3,000
= 4,000
= 4,000
01 XA E B F S| 8,000 5,000 3,000
OS2 AEH 7Y 8,000
= 4,000
& 4,000
AFS EHHONAZ AH(DI2) 11,357 11,357 0
J| 5,679
& 5,678
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-HA=2 9,886& *10Al 2tx 16«12 18,982
-ZE 9,886% x20Al 2+ x16H «12& 37,963
Oogd=¢ 8,880
- EsE 8,880
il < Xt 40,0003 x10E «12& 4,800
- JIEHIHS 20,0003 x17H«12& 4,080




AZ: sEN9ER SN ESM
PSR F2IZH (IIEAMAEL ERAL)
chel: ol gy
SA BB C(SH) - MRAY - BES il
OoOXtdstgI x4 5,560
-NsEd 463,300 x3H 43| 5,560
OfIgz2f=+% 7,200
-A43 50,0003 *12H x12& 7,200
O3 4,672
- P28 E)
3,164,700 x4 . 1%*3H »12& 4,672
O=0tsdd 500,000& 1«12 6,000
OE+gfs+E 21,360
RS E=g B =y 18,000
ol &4 150,000& x10E »12& 18,000
SRR Y 2,880
HRAXNZERR 80,0003 «3H 122 2,880
-Jls384 480
8= 0l Gt 20,0003 1 128 240
I3 (2H) 20,0003 «1H 128 240
O HZ A 130,000& x16H 128 24,960
OYE F Oty 524,339,000% *1/12x60%*23] 52,434
JeJtE &bl
524,339,000 *1/12%86%*1/30*19 23,800
02 JIEHR 2+ 58,868
O5SY A+ At 58,868
OAlzte 22+ 11,768
-3H= 6,537& *10Al 2t+5H x12& 3,923
-ZUE 6,537 *20Al 2tx5H x12& 7,845
Ogoegsdda 600,000& x5H «12& 36,000
O=3LH0ddl 150,000& x5 »12& 9,000
Ol =4l 150,000 *5H x23| 1,500
Ou=H| 300,000 x2H *13] 600
03 RIAHAZ 2T E += 56,253
Otz (M) 56,253
OJdles 1,339,200 x2H x12& 32,141
O&0u= 32,141,000& *1/12%320% 8,571
Odxt=¢ 44,6403 +2H 19 1,697
(OF==Ea=y 107,000 128 1,284
OPIE=Eal=s 480
- < X 40,0003 «1H 128 480
OunsExHl 60,000 =2 x12& 1,440
OZE s tyl 600,000 x2H x23| 2,400
OF Mg Al 130,000& x2H »12& 3,120
Ol =t 100, 000& x2H 200
Ol 20,0003 «8L x12& 1,920
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